
Time: 10 Minutes Paper Math 8 (T-1) Total Marks: 10

5th Month, 3rd Week, 3rd Day Exercise. 4.2 Q # (7,8,9,10,11,12)

//// Answer the following questions. ŠŠŠŠgggg̀`̀̀ffffssssÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ[[[[ŠŠŠŠ,,,,XXXX

(i) Construct a rohombus STUV, when mST = 6cm, and mSU = 9cm. (3)

ƒƒƒƒXXXX mSU = 9cm ZZZZzzzzgggg mST = 6cm ¥¥¥¥¯̄̄̄MMMM²²²² STUV

(ii) Construct a parallelogram ABCD with diagonals 6cm and 8cm and the

angle between them is 70°. (3)

»»»»ƒƒƒƒXXXX 70° ZZZZzzzzggggZZZZyyyyÆÆÆÆŠŠŠŠggggxxxxyyyyiiiiZZZZzzzztttt 8cm ZZZZzzzzgggg 6cm ¯̄̄̄NNNNTTTT»»»»zzzzFFFF,,,, ABCD ááááZZZZiiii~~~~ZZZZÑÑÑÑHHHHqqqq

(iii) Construct a kite DEFG, where mDE = 4cm, mEF = 8cm and the length

of the longer diagonal is mDE = 10cm. (4)

ììììXXXX mDE = 10cm ZZZZzzzzggggzzzzFFFF,,,,ÅÅÅÅMMMMðððð mEF = 8cm ÔÔÔÔmDE = 4cm ¯̄̄̄NNNN²²²² DEFG ZZZZqqqq----XXXX
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(i) Construct a rohombus STUV, when mST = 6cm, and mSU = 9cm. (3)

ƒƒƒƒXXXX mSU = 9cm ZZZZzzzzgggg mST = 6cm ¥¥¥¥¯̄̄̄MMMM²²²² STUV

(ii) Construct a parallelogram ABCD with diagonals 6cm and 8cm and the

angle between them is 70°. (3)

»»»»ƒƒƒƒXXXX 70° ZZZZzzzzggggZZZZyyyyÆÆÆÆŠŠŠŠggggxxxxyyyyiiiiZZZZzzzztttt 8cm ZZZZzzzzgggg 6cm ¯̄̄̄NNNNTTTT»»»»zzzzFFFF,,,, ABCD ááááZZZZiiii~~~~ZZZZÑÑÑÑHHHHqqqq

(iii) Construct a kite DEFG, where mDE = 4cm, mEF = 8cm and the length

of the longer diagonal is mDE = 10cm. (4)

ììììXXXX mDE = 10cm ZZZZzzzzggggzzzzFFFF,,,,ÅÅÅÅMMMMðððð mEF = 8cm ÔÔÔÔmDE = 4cm ¯̄̄̄NNNN²²²² DEFG ZZZZqqqq----XXXX
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